Rovnice se zlomky - leh¢i typy

1. Re$ rovnici: XTH+1: X—2

Reseni:
XTH—HI.:X—Z /-3

X+1+3=3x-6 [-3x-4
—2x=-10 /:(—2)
Xx=5

Zkouska: L(5):g+1:3; P(5)=5-2=3=L(5)=P(5)

2. Res rovnici: 3X_l+1= X_Z;gx
Reseni:
3x-1 2—X

+l=x——— /-6
3

3(3x-1)+6=6x—2(2-X)
9x—-3+6=6x—4+2X
9x+3=8x—-4 /-8x-3
X=—7

Zkouska: L(—7) =-11+1=-10; P(—?) =-7-3=-10= L(—?) = P(—?)

3. Res rovnici: 2X=1_p_ X A+2X
3 2 4
Reseni:
4x—1_2=§+4+2x 112
3 2 4

4(4x—1)—24 = 6x+3(4+ 2x)
16X —4-24=6Xx+12+6X
16x—28=12x+12 [-12x+28
4x =40 /:4
x=10

Zkouska: L(10)=13-2=11; P(10)=5+6=11= L (10) = P(10)
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4. Res rovnici: Xt X*4 142X
2 5 2

Reseni:
x-1 X+4 1+2x
-1= +
2 5 2
5(x—l)—10 = 2(x+4)+5(1+ 2x)
5x-5-10=2x+8+5+10x
5x-15=12x+13 [-12x+15
—7x=28 1:(-7)
X=-4

/-10

Zkouska: L(—4) = —g—%: P(—4)= 0+(——j =——=L(-4)=P(-4)

|
N~

5. Res rovnici: x-S _p_ X+l _5+2X
6 2 3

Redeni:
x—3_2:x_+1_5+2x 112
6 2 3
2(x—3)-24=6(x+1)—-4(5+2x)
2X—6—-24=6Xx+6-20-8x

2x-30=-2x-14 [+2x+30

4x =16 /.4
Xx=4
1, 1 5 13 15-26 11
Zkouska: L(4)==-2=-—;P(4)=——-—= =—"=L(4)=P(4
ouska: L(4) = 6 FW=2737"5 ~ 5 tW=PE

Xx=2 x+2 _x+1 x-1
3 6 12

6. Re$ rovnici:

Redeni:

X-2 Xx+2 x+1 x-1
8 3 6 12

3(x-2)-8(x+2)=4(x+1)-2(x-1)

3X—6-8x-16=4x+4-2x+2
—5x—22=2x+6 [—2x+22
~7x=28 1:(-7)
X=-4

[-24

Zkouska:
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Xx+1 X 2—3x_

7. Res rovnici: —— -2 = 3
9 3 6
Reseni:
x+1 x_ 2_3)(_3 /-18
9 3 6

2(x+1)—6x:3(2—3x)—54
2X+2—-6X=6-9x-54
—4X+2=-9x-48 [+9x-2
5x =-50 /:5
x=-10

Zkouska: L (~10) = -1+%=%; P(~10) :%-3%: L(~10) = P(~10)

x+1_x+1_ x+1_x+l
5 10 2

8. Res rovnici:

Redeni:
x+1 x+1 x+1 x+1
4 5 10 2
5(x+1)—4(x+1)=2(x+1)-10(x+1)
5x+5-4x-4=2x+2-10x-10
X+1=-8x-8 /+8x-1
9x=-9 /:9
X=-1

/-20

Zkouska: L(-1)=0-0=0; P(-1)=0-0=0= L(-1)=P(-1)

X+2 X+2 X+2 Xx+2
6 3 10

9. Res rovnici:

Reseni:
X+2 X+2 X+2 X+2
5 6 3 10
6(x+2)-5(x+2)=10(x+2)-3(x+2)

6Xx+12-5x-10=10x+20-3x—-6
X+2=7x+14 [-Tx-2
—6x =12 /:(-6)
X=-2

/-30

Zkouska: L(~2)=0-0=0; P(-2)=0-0=0= L(-2)=P(-2)
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x—l_x—2 3 x—l_x—2 1

8 4 10 20

10. Re$ rovnici:

Reseni:
x—1_x—2:x—1_x—2_i 1.40
5 8 4 10 20
8(x-1)-5(x-2)=10(x-1)-4(x-2)-2

8X-8-5x+10=10x-10-4x+8-2

3x+2=6x-4 [—6x-2
—3x=-6 /:(-3)
X=2

Ziouska: L(2) =g —0=2 ; P(2) =5 —0-—- =2t ==
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